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Mathematics Mega Quiz For RRB NTPC

Q1. For every set of 9 kites sold, a vendor gives 1 Kite extra, free of cost. In order to give a discount of 10%,
the number of extra kites he should give in a sale of 27 kites to the nearest integer is

TAF 9 T & G I & AT Tk fAshdr 1 qa7 T qar §. 27 TaT & fAfT F 9T 10% fr e qa s w9 |
S TRl qa T T AT ATRY?

(@3

(b) 6

(©7

(d)8

Q2. In a village, each of the 60% of families has a cow; each of the 30% of families has a buffalo and each of
the 15% of families has both a cow and buffalo. In all there are 96 families in the village. How many families
do not have a cow or a buffalo?

TF TTE F, TAF 60% TRATA & I9 T §; TAF 30% TRAT & I8 A g i TAF 15% IRami & a9
T T AT & SO T4 | T 96 qRaT< 8. v aRam< & are 131 a1 A9 7 872

(a) 20

(b) 24

(c) 26

(d) 28

Q3. The number of seats in a cinema hall is increased by 25%. The cost of each ticket is also increased by
10%. The effect of these changes on the revenue collection will be an increase of

T AT g § "It fi gear 7 25% & gia i It 3. 74 fewe it arra 7 «ff 10% & i Fit v .
TSI €U § &9 Iidada; o fhaq gfaera i grft?

(@) 37.5%

(b) 45.5%

(c) 47.5%

(d) 49.5%

Q4. Tickets for all but 100 seats in a 10,000 seat stadium were unsold. Speci al Offer
Of the tickets sold, 20% were sold at half price and the remaining
tickets were sold at the full price of Rs. 20. The total revenue from the

ticket sales, in Rs. Was S S c c P 0

10,000 Hiz arer wfemw & 100 HT @rett off. 3= 7 feve & 7 20%

fehe smeft g 9 9= 2 &R AW Fr 20% Fr 7 Fwg 9= =T =, TIER-II

It T2, feee & e oA Tored (T H) Fraem 87

(a) 158400 10 Full-Length Mocks
(b) 178200

(c) 180000 Pno e

(d) 198000 Validity : 1 Month
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Q5. If 24-carat gold is considered to be hundred percent pure gold, then the percentage of pure gold in 22-
carat gold is:

I 24-A T T 100% [ AT HIAT SFATAT g, qT 22-T0e G4 F [ A it 71 Frast afaera 82
912%
(@ 4

(b)
(©
(d)

Q6. Out of 2500 people, only 60% have the saving habit. If 30% save with bank, 32% with post office and
the rest with shares, the number of shareholders are

2500 ARFAT F /, FaT 60% AHAT Hit THT FHLA T AT 5. AT 30% S % AT T91Q 7, 32% e AT
T TG HA § A AT QAT F T T9d FLd §, AT AAL ATTHI T T&IAT F97 52

(a) 450

(b) 570

(c) 950

(d) 1250

25
91 n Yo
915%

Zo
9[]3 Yo

Q7. In a factory 60% of the workers are above 30 years and of these 75% are males and the rest are
females. If there are 1350 male workers above 30 years, the total number of workers in the factory is

T FFT § 60% FHAT 30 a9 § SIfa g & § Sl =740 ° 75% TV § i< AW AigaArd §. A< 1350 T2
FHATA 30 I & STTeF g F €, AT Horct H FHAATIAL I ol G&AT FAT §?

(a) 3000

(b) 2000

(c) 1800

(d) 1500

Q8. Fresh fruit contains 68% water and dry fruit contains 20% water. How much dry fruit can be obtained
from 100 kgs of fresh fruits?

TS FAL H 68% TTHT 3T T& FeAt § 20% TTAT AT . 100 T amsr vt § & fFvqr @ et fRarer S 96
&

(a) 32 kegs.

(b) 40 kgs.

(c) 52 kegs.

(d) 80 kgs.

Q9. A spider climbed 62%2% of the height of the pole in one hour and in the next hour it covered 12%2% of
the remaining height. If pole’s height is 192 m, then distance climbed in second hour is

T Al T e H @ it SATS HT 6214% FEAT & ST T T 5 H I8 AW HATS T 12%4% =@d1 5. AT @
T FATS 192 W, A g S F a7 fr 7 g w2

(@) 3m

(b) 5m

(c)7m

(d) 9m
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Q10. A reduction of 21% in the price of an item enables a person to
buy 3 kg more for Rs. 100. The reduced price of item per kg is 6 Months Subscription

TF Fg Hi 9T H 21% $T FHt T T =qf<e 100 T F 3 .7 sfesw
FE GO AT §. aeq A Fraa # g FFar w8 = g2

(a) Rs.5.50

(b) Rs. 7.50

(c) Rs. 10.50
(d) Rs. 7.00

Q11. 5 persons live in a tent. If each person requires 16 m? of floor

eBOOKPLUS

area and 100 m3 space for air then the height of the cone of smallest
size to accommodate these persons would be?

5 AT T | @ & I< TAH ATh & 16 W12 F qdg ATH < 100 13 % gaT * forw T Fi saea=hvar g
AT S SATRPAT T GHTAIT HEA & (T Fohaet HATS arer 3 it Sraegshar gei?

(a) 16 m

(b) 18.75 m

(c)10.25m

(d) 20 m

Q12. The numerical values of the volume and the area of the lateral surface of a right circular cone are
equal. If the height of the cone be h and radius be r, the value of % + riz is

TS A AT AT 6 A X IrH qag A6 HT GiTeqh od GHI 8, (< & it FA18 h I A BFATr g,
AN + — T AT AT A

(@)=

(b)>

©3

OF

Q13. If in sale, the discount given on a saree is equal to one-fourth the marked price and the loss due to this
discount is 15%, then the ratio of the cost price to the selling price is

% T A #, AT WA TR Ge SAhT [T F TH-ATATS, g SN 6 FE & TR gs 2 15% &, O A0 T
&1 fas o & foanaar srquma g2

(@)3:4

(b)4:3

(©)10:17

(d)20:17
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Q14. Successive discounts of p% and q% on the catalogue price of an article is equivalent to a single
discount of:

T T T pY% AT q% T FATT ge fFa Tt e F qur 87
0 (e -)

Q15. Mohan gets 3 marks for each correct sum and loses 2 marks for each wrong sum. He attempts 30 sums
and obtains 40 marks. The number of sums solved correctly is:

HIgT &l TAT gt ST & g 3 siwh fara g X s Toia S 9X 2 37 *1e g S1a 8. 98 30 v F<aT §
3T 9 40 37 T FLA §. G & 4 fau 1 I A g |

(a) 15

(b) 20

(c) 25

(d) 10

Q16. Two trains 108 m and 112 m in length are running towards each other on the parallel lines at a speed
of 45 km/hr and 54 km/hr respectively. To cross each other after they meet, it will take

108+ 3T 112t &<t ¥ & FHTTGL AT qT 45 . #/i/eeT sfiw 54 . fi/ser it fig & wgEe i R ag
T 8. TF AL & A & 72 Ty &0 O FA A Srg (b T R T

(a) 12 sec

(b) 9 sec

(c) 8sec

(d) 10 sec

Q17. A book seller sells a book at a profit of 10%. If he had bought it
at 4% less and sold it for Rs. 6 more, he would have gained 18 % %.

Special Offer
The cost price of the book is

T fohare fAsar 10% F T 9% T& Jeas S9dT 8. I 98 39 4%
F X GHEAT § 0T T 63 AAF 0 a9 § AN ¥ 1829 FT AT RRBNTPC 2018

grarT. e #1 AT 4 STAGE-1

(a) Rs. 130
(b) Rs. 140 35 TOTAL TESTS
Rs. 150
8)) RSS_ 160 Bilingual | Validity : 2 Months
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Q18. A shopkeeper bought 80 kg of sugar at the rate of Rs. 13.50 per kg. He mixed it with 120 kg of sugar
costing Rs. 16 per kg. In order to make a profit of 20%, he must sell the mixture at

T gwa 13.50f%.37 9% 80fF.ur @diar § si¥ ag 38 16% o f&h.am areft 120f%F.am i+ & arr f=r 3ar
8. 20% FT ATH ITH FA & FH 7, 39 Ig A=or fFqe a2 s==r =1l

(a)Rs. 18 per kg

(b) Rs. 17 per kg

(c) Rs. 16.40 per kg

(d) Rs. 15 per kg

Q19. If sin 8 + sin? @ = 1, then the value of cos? 8 + cos* 0 is -
i< sin 0 + sin? @ = 1, T cos? 0 + cos* O FT AT &-

(@0

(b) 2

(1

(d)-1

Q20. Provided sin (A - B) = sinA cosB - cosA sinB, then sin 15° will be -
sin (A - B) = sinA cosB - cosA sinB &, a7 sin 15° T -

V3
(@55

V3-1
®) S5

V3-1
©~F

@5

Q21. What is the LCM of (6x* + 60x* + 150x) and 3x* + 12x3 - 15x%)?
(6x° + 60x* + 150x) 3T 3x* + 12x® - 15x%) FT F.9. T §?

(@) 6x* (x+5)?2*(x-1)

(b) 3x* (x + 5)% (x- 1)

(0) 6x* (x+ 5)* (x-1)?

(d) 3%% (x + 5) (x - 1)?

Q22. If HCF of (x* + x - 12) and (2x? - kx - 9) is (x - k), then value of k is
IR (P +x-12) X (2% -kx-9) FTA.H. (x-k) §, MKk FTHAN &:

(@) -3

(b) 3

(c) -4

(d) 4
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Q23. If (3x3 - 2x%y - 13xy* + 10y?) is divided by (x - 2y), then what
is the remainder? A

Tfe (3x® - 2x%y - 13xy? + 10y®) ¥ (x - 2y) & s T smar g,

A e e &7 PREMIUMPLUS
@a~o
(b)y+5

SSC .

(oy+1

Q24. Tvs{o numbers are such that.the sum of twice the I.irst number
and thrice the second number is 36 and sum of thrice the first

number and twice the second number is 39. Which is the smaller
number?

T HSATY 30 A8 & 3 TgelT €A1 & TR[AT i< SO S&AT § A AT F7 T07 36 § SHT TgAT Q&AT &l A+ A7
i O €T & & I[AT FH AT 39 T BT TSAT i AT 8?7

(@9

(b) 5

(©7

(d) None of these/zaH & FIs AGT

Q25. If the sum and difference of two numbers are 20 and 8 respectively, then the difference of their square
is:

I T FATSAT T AR AT I FH: 20 AT 8 7, AT I ¥ 7 (< 3

(a) 12

(b) 28

(c) 80

(d) 160

Q26. A 4-digit number is formed by repeating a 2-digit number such as 2525, 3232, etc. Any number of this
form is always exactly divisible by:

2-3hr FEATS T AU g 4-3ih wear A i st § & S 2525, 3232 g1 3@ O @ Rfdg w
<ft geaT gRaT e s gefi?

(@7

(b) 11

(c)13

(d) Smallest 3-digit prime number/ TaE FIET 3 3T ATAT ATATST FE&AT

Q27. A number divided by 68 gives the quotient 269 and remainder zero. If the same number is divided by
67, then the remainder is:

TH G&IT FT 68 FRT ATl 3@ I 9TTHar 269 3R ATHRT YT ITH grav gl I« A F&IT & 67 &
IEEUSGRERISICIEA KNk s

@0

(b)1

(c) 2
(d)3
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Q28. What is the mode of the following numbers?
et dearsi w1 agas #1852

Special Offer
1,2,4,6,4,3,5,4
@1 RRB NTPC 2019

(b) 2
©3 STAGE-1

(d) 4

25 Previous Year Papers

Q29. Find the median of the following data.
et ster fit miftgsT sTa fifsm)
27,39, 49, 20, 21, 28, 38

(a) 49

(b) 21

(c) 28

(d) 38

Bilingual | Validity : 2 Months

Q30. The population of a town is increasing at the annual growth rate of 5%. If the present population is
1,60,000 then what will be population 4 years later?

5% FT a1+ i T = TF a8 i sweer ¥ g gt §1 R adq SwEear 1,60,000 §, @v 4 99 9=
STEEAT fFast g

(a) 1,94,481

(b) 1,78,641

(c) 1,92,000

(d) 1,65,000
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